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If,

0+0=10

O+0+=10
Ox0-Ax0=35

then the value of A will be_

i. L5
2. 25
3.5

4. 75

How many parallelograms are there in the given

T

2.

LO+0=10
O+ +0=10
OxO0-Ax0Q=5
©ond A DS

1.5

B
wn

7.5

a:)l?

figure?
.- 14
2. 15
316
4. 17

A newspaper has 6 sheets consisting of 24 pages
in total, If page number 17 of that newpaper is
- missing then find the set of missing pages in that

newspaper, from the alternatives given befow:

. 6,7,16,17
2. 7,8,17,18
3. 8,9,17,18
4. 9,10,16,17
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i, 14
2. 15
3. 16
4. 17
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5.

The given figure in the question has five squares

and four equilateral triangles. Two squares and
two triangles are shaded. The figure is folded
along the dividing lines, the squares by 90° and
triangles by 45° so as to form a closed three

3 '&3')& M 8‘;[ } o "W ! , W03y 3
; g v

Seodden,  Ooy  SFowren  HWR)
Socidco 20000, SBXSTd 90° Gaoaren

2 Doy SofBod.

dimensional object. The object is then placed . _
with its apex pointing towards your left. Which 3 D o o @ i 32 6
one among the figures given in the alternatives SRV W B '
can be seen? QDR ecedion. WO pogaryarg’ 9
Digo wer AVRH?
i 18 8
i
f l. 5 1.5
| z. 6 2. 6
3.9 T
; 4. 12 i 12
i
{ 7.  The opposite faces of Dice X are:
i are: . T.X wd IS’ domedd  (buses
% (52), 63, D] 55 15 (ooren)
il The opposite faces of Dice Y are: Bozren: |(5,2), (6.3), (4.1)]
3 .
1. | (6, 5), (@, 1), (6.2)] Y 0 D" deobeso zoaren:
i ; . 3,5),(4,1),(6,2)]
i Which figure can represent both Dice X (6, 5) %
{ Dice Y with faces shown below? . and Dgred® D Ogo X, ¥ ©d o Idswdr
3. T
. { 4 4 4 | 4
2 X
’ / s | 27| 3 |6
.
: A B C D
Complete the following series: 5. SO ZyBocsod:
6,24, 60, 2,210 6,24, 60, 2,210
1. 9 9 s LA
2. 120 2. 120 . B 2. B
3. 140 - : 3. 140 : 3 € 3 C
4. 160 ' 4. 160 4. D 4 D
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10.

i ' 8. R S S TU
RS S TU N N RS T
+ NR ST ) @ 1 s
RS 378 4.9
37 8 49

then, find the code for T U R N § from the
given alternatives provided there is no carrying

TURNSSJ&OM&ogasDn‘l:)l
over in the given addition using letter codes, ;

SOFDed. ('aaa:\‘: wEC DoSere o)

) Q00 Ahocstio Desred).
. 13625 ' L 13625
2. 65231 _ 2, 65231
3. 16352 ’ 3. 16352
4. 53126 ' 4. 53126

A comparison of ages of A, B, C, Dand Eareas 9. A, B, C,Dmomﬁvéo&a))om 0
1. B Sapay A Sabroye* ddo
1. mecammasodwza@mya
fi. D aoix‘ws C mmb o83 12

follows.
. B’sageis half the age of A.
1. B’sageis 1% times the age of C,

1. D’s age is 12 years less than C, ) é?’ba
; IV. D dobioy E Sabrwy o3 1% B4w
IV. D’s age is 1% times the age of E. -3:-‘.)1,5 .

V. The age of E is 12 years. V. E Sodroy 12 Roiddoren.

With the given data what will be the difference

in the ages of A and C? 'Q':_’.)""’ ““‘a"'ﬁ"":’l_bg A, Co  Sondoyw
DG SgeTiRo dodd?

I 64 ‘ ‘ I 64

2. 60 2. 60

3. 40 3. 40

4. 36 4. 36

If CLOUD = 11, BURST = 16 and 10. CLOUD = 1. BURST = 16 so8co

ACE =3, then MONSOON = ?
ACE = 3, @008 MONSOON = Joes?

1. 13 .13

2. 15 2..15

3017 3. 17

4, 19 ) 4,19
4

13-22-MAT-ENG-TEL
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11.-  Three dice arc rolled simultaneously and the
numbers shown on all the three dice are added,
then the total number of possible ways to have a

sumof 7 is
.12
2. 13
3. 15
4. 16

12. A comparison of marks scored by Gauri, Aaban,
Seerat and Alvina in an examination is as
follows.

1. Gauri has scored 15 marks less than Aaban,

1. Gauri has scored 20 marks more than
Seerat.

T Alvina has scored 10 marks less than
Secrat.

To decide who has scored the highest marks,
identify the stalement from those given in the
alternatives in respect of sufficiency of data.

1. Data given in [ and Il are sufficient,
Data given in | and I are sufficient.

Data given in Il and 11l are sufficient.

Pl ol

Data given in I, IT and Il are sufficient.

13.  The number in the place of *?” should be .

4 7
7 6 9 8
5 3 4 4
10 5
I. 30
2. 32
3. 54
4. 36

13-22-MAT-ENG-TEL

1L Sowey FDg0R 2830 DO ordod
Do DowjoRd SODS Jwgo 7 & Vv

A Degrewrr DOOHSy ST 0l
1. 12
2. 13
35
4. 16
12, 08 DL X0, wed, DS, wdd Toad
araped ToEry:
1. mﬁ&a%ammwsﬂﬁwis
:)rd)bw é&?’a &‘JG'.)QD.
I 266 s Tod 20 Ardpen D
aﬂ")o.b. .
L 8re DS ol 10 Ardyen Sy s
2.
| 0c0getS JEDH Dy S Fort
0C0% 9«‘3‘)& RITTTY

VR0, BIWAD DoETares’ D6
POELIE HBocsod .

L1 &% 2aveerdo 20T dood.

2. 1, HI 08D dirarde 20T d00.

30 11, 1 oS™D ddrardo 2T dod.

4. I I Soakw es'd  ddrado
POV B00d,

13. 42 06" @0dDOND Doy .

6 7
5 6 10
4 3 5 3
2 ' 4

30
32
34
36

o
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14, Find out which of the following figures can be 14, <X* oo Do BNE  WoLroRed) Sob 16. If MOBILE is coded as DFBléE, then 16, MOBILE % DFBICEr 3% CHARGE &

formed from the pieces given in the figure <X’ 2 ! i
’ @ i CHARGE is coded as:
Mwlwmmm%? oddsorr Jor Sabddy.
! i. CHBXQE I. CHBXQE
2. CLARTE 2. CLARTE
3. CHAIGE _ 3. CHAIGE
4. CHIAEF 4. CHIAEF

‘A#B" means A is daughter of B and
‘A £B' means A is father of B

Based on the above information, which of the
following alternative represents the correct
group of symbols that indicates the relationship

'AHB @083 A B § 308 S08ak

17.  Study the following information. 17. 300 DJrEFTY) OIWocsol.
. 1£'ASB" means A is brother of B, ASB 29085 A, B & 0 Gt
_ 0 'A@B means A is wife of B, _ "A@B' woS A B $ ard,
= |

'A £B' 00083 A BS dod

R 23rereed) 0000 K ddorrdd H @d

for °K is father-in-law of H’? 20e05°) ArDoocid 300
VORI ares® 90 20EHIA?
A B C D .
1. H@JSL#PLEK 1. H@ISL#PLEK
. A LA 2. H@ISPELHK 2. H@ISPELHK
2. B 2 B 3. H@ISLAKEP 3. H@ISLEKEP
3. C 3 ¢ 4. H@PSIELAK _ 4. H@PSIELAK
4. D a D Directions: (Questions 18- 20) Qorssden: (18- 20 peyen)

The following figures represent students who .
! can play, sing and dance. 800 Dgo wadbf, Hop 35 g

15.  Find the missing number ?* in the figure 15, DoS’ S*odd Rogyy 2
given below: S0 R 5

N S"&%‘boe.. i
%
3 4 5 6 i
7123 8 (35| [ol3]s wl 2| g ‘ x e
) , . 5 { 18.  Which-part of the figure represents students who 18, es¢$®4 oo SaRABAS 0 DGos® D
| can sing and dance? )
Wefo SrDRIO?
i L F ' I. F
; 32 I 30 i 2. ¢ 2. C
3033 o r ‘ 3. FandC 3. F o C
4 35 4 35 4 EandG 4, B0 G
. 6 . i 7
13-22-MAT-ENG-TEL : 13-22-MAT-ENG-TEL
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19: The number of students who can play is more by

20.

13-22-MAT-ENG-TEL

‘@' than the number of students who can dance;
and the number of students who can do both
playing and singing is more by 'b' than the
number of stadents who can do both singing and
dancing. Then what is the difference of the
number of students who can only_dance and
who can only play?

a+b
2a-bjor(b-2a)
{a—2b) or (2b~a)
(@-b)or -

BN -

It is given that the total number of students inall
the three disciplines is same. Also, sum of the
number of students who can only dance, and
twice of the number of students who can do both
singing and dancing, cquals the sum of the
students who can do both singing and playing,
and the students who can do both dancing and
playing. Then which among the alternatives is a
correct statement about the number of students
who can only play and those who can only sing?

1. The number of students who can only sing
is twice as many as the number of students
who can only play. )

2. The number of students who can only sing
is equal to the sum of the number of
students who can sing and dance and the
number of students who can only play and
sing.

3. The number of students who can only play
and sing equals the number of students
who can only dance and play.

4. The number of students who can only

dance equals to the number of students
who can only sing,

19. 90 Saba®AD DYDY owy G0

20.

BEadHD e Dowy 3’ wod WS,
0,3 Do SaiaBO DEricoe Howy e,
B8jo Sari®nm Derihe Dowssos b’ wos
A wond  Edeo Y dobrivard

oy Sdwo edndAe DoH o Pso

oes?

1. a+b
2. 2a—-b) S b-2q)

3. fa-2b) o> (2b - g)
4. fa~b) S (b -a

Borcs Sorrosy  JodD dergdoe Roay
RArID. wodss Svwo Hydre dabrivo
Do, Ewo e Mo Boctr SaLADABTO

swmagom.&o,wm-'

SaAdAaD Oa',sgm Ropied TR0 ety Bocr

BadASTre RoRIH VAP0, wond Fdwo |

wcadnS dargdoe Doy Sdvo Ardrsuns
Ao DodfDH  Boss Sg350  So0
QO oo’ ROLIHOEIG D67 .
I 8500 dcadn e Bogy Ssewo
GABND Jericher Dosys ot Biosy.

2. 3500 FEndnD Doigon Bowy Fcndn,
Ao Sovo awgrde,
DA Jcirs Voo g gree
Do,

3. cndd JandA darghber oy Sdeo

% Sabidh wcsdad oo Ropys
AT, '

4. 8dwo [y arge Soadad Dergoer
oy Sdvo FEdAD dariher Do
LSRR

gamany

21. Complete the following serics
1,-8, 81, %, 15625
L -1022
2. ~1024
3. ~4094
4, 4096
22. Yaibiren is standing 4 metres East of Rajib, who 22,
is 1 metre North of Achira, If Sahibah is
standing” 3 metres South of Achira, then in
which direction of Yaibiren is Sahibah?
1. North-East
2. North-West
3. South-East
4. South-West
23. Which of the following diagram indicates the 23,
best relationship among men, fathers and
teachers?
A B
. A
2. B
3. C
4. D
24. Ishan wishes Irfan ‘Good Morning™ when the 24,
hour hand of a (measurcd clockwise) clock is
positioned between 9 and 10. The angle between
the two hands is 145°, The time shown by the
clock is
L. 9.08AM
2. 910 AM
3. 912 AM
4. 915 AM
9
13—22—-MAT~ENG-TEL

21. 808 DAWEAPD) rBoSod

1,8, 81,2, 15625
L —1022
2. 1024
3. -4094
4. -4096

a0 O 28 Doeds ags ans’ VAP
iS5 © SN S od6S
DDA . 0D D Bdme DY A
DS Srooss’ Ddrar Gotd HSS irers
D 685" Gobrey? .

I. 60?650

a'oi)éya

uﬂ.ldbo

DG

Qmm,o@us‘mﬁv;mmé‘mm
BRPD Do) Arded Do
o3t D7

® ©

AGairses” fotser dwen 9, 10w e
EOLONCTIE 3 [N O WS gane’
(Good Moming) Sewerch. Boc Suy Soges*
v o 145%w0. wond ndairdo wrdoid
RDAORe

B owow

e
Tow>

1. -9.08 &csodvo
2. 9.10 &b
3. 9.12 &k
4. 9.15 asavoe
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25. IF *15 + 10 means 5% ‘6 x 3 means 9; 25,15 + 10 eot5 5, '6 x 3 wots 9, ‘§ + 4 29. If the ninth day of a month is four day 29. & 25D 6 G (Lrdo g0l
‘8 = 4 means 32% and ‘12 - 2 means 6’; ; s — ier than Thursday then what day will it - W oSS
then what will be the value of 08 32" Sobasn ‘12 -2 8ol 6 sdlic e, Tk ‘ay " ¥ . Beren S B D
27481-9x6? 27+ 81 -9 x 6 Dewd Noes? ' be on the twenty third day of the month? ngmrc.‘.a G D Bar wdydood?

136 136 ‘
2. 24 2. 24 _ ; 1. Monday I Yvoeco
312 3. 12 | 2. Wednesday 2. eoarde
4 6 4.6 . :

. 3. Friday 3. Bogordo

26. Which number will replace the ‘2" in the 26, 308 6% €006° P 3 excsoenme 4. Sunday

. o §
following sequence? - ooy Sar 4. vdrdo
9 .
5,7,14,24,42,2, 119 5,7,14,24, 42,7, 119 . 30. Which number replaces that question mark 30. 233 Dgots® 2 & exornrr Soksebd
' ) 2" in the given figure?

1. 7 1. 71 ".Ooabsnd?
2. 67 2. 67

. 3. 65
‘6 e

27. What will be the ﬁxissing term 2" in the . 27. 06 €200¢5° ' & Bodd Do (08)) 6?7
given scries?

AK, FP, 2, PZ, UE, 71 AK, FP,?,PZ, UE, ZJ

1. KU 1. KU

2, 1T ‘ 2.JT

3. JU 3. JU 1

28, Ina family of four members there is father, 28, 28 €x%00e0S" Sogy 89, LI OB

mother, son and daughter. When sorted GRYO0. S0 BokKINOR el goost
according to decreasing order of their ages, % !

the order is father. mother, son and DY 09 §%00 Bogs BY ERATEXD, LT
daughter. The difference between the age of G000, BoGeRVO DAL [ Bcso

father and mother is 5 years. The difference 5 R0BBeD, SHTO DOB0  SOHIN j 1. 4 4
between- total age of male members and 3 M : 2. 16 ! 2. 16
female members is 15 years. Also, the total BT Do IRV MR Bcso 15 i 3. 18 318
age of children is 20 years, then the age of RODDNTRD. Lyo  dwodo DoIR0y - 20 | 4 22 4. 22
thesonis______ . C Robipmen 8and 8D SEK0 . '
. o R ’ 31. Find the missing value *?* in the following 31. &o& SEODE0S°  S*BDoDD  Dewadd
i series:
S0 0d:
. 13, 34,74, 2,290
1. 10 years L. 100058 oren ‘ 13,34, 74,2,290
2. 15 years 2. 15 dodeyoren 1. 168 . o L168
; 2. 17 2. 170
3. 20 years 3 20R0d8yoren ‘= 5 3. 172
4. 25 years 4, 25 RodBNTTen 4. 174 4. 174
10 . 11
13-22-MAT-ENG-TEL . 13-22-MAT-ENG-TEL
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32. What number comes in place of ¢
given figure?

in the 32, @y DBo&” “?” § axweVrr GoddeDd

oy
'SJ ~
lelal7)2]2
HEDRRL 1
613191514
91613
1. 9 1. 9
2. 8 2.8
3. 7. 3.7
4. 6 4. 6
33. The following figures represent information 33. 806 dgrew. DS BT ded
ive inst them,
given against them ) ArdFaw.
[ ] Total number of students who [[(] 80 2680 dopzp &%

applied for Board Examination,
Total number of students who
actually appeared at  Board
Examination.

Total number of urban students
who appeared at  Board
Examination. )

Total number of students who
qualified at Board Examination.

A
@)
0

Based on the above information which of the
following figures represents the above facts?

25

12
13-22-MAT-ENG-TEL

Duigpe> Sogo vy
A

oo Doy
O S0 DboD  Hags e
Doridoer Jndo Hows
] SH >0 véges SEHT
Serygoes oo ows
Q‘d&w«ﬁléaéoOWDng
RO RrDR06?
B

A
&=

5D vbLoS” Sags Da"ggw

]

SRR i

ST BN

i 3 YN o s B A RN

34.

35.

36.

Five friends P, Q, R, S and T read a
newspaper. The one who reads first gives it
to R. Thc_one who reads last had taken it
from P. T was. neither the first nor the last
one to read. There were two readers bétween

Q and P. Who reads the newspaper last?

RS
NEO T

A clock shows 05:45. A plane mirror is kept

on the right of the clock, with its plane
perpendicular to the face of the clock. What
time will be shown by the mirror image?

06:45
05:15
06:15
07:15
In a certain code language “Kolkata is
cultural hub of India” is coded as
“02463B” and “Mumbai is financial hub
of India” is coded as “Y3472B”. Then in the
same  language “India is  hub of

EaR RS o

‘democracy” may be coded as

®2439
243717
3249
32347

Ralb ol

13-22-MAT-ENG-TEL

34,

P, Q R, S S08asn T ed axcioraed Dogoen
5 TTDISW SADEW. A0PANEES
VOIS e A R O e0dF.

| 000508 D508 SHDD S &Y P

36.

moam.'l‘eéwsgmas
QHAGBTCD W, DB 5. Q,

Pe ax.’ss RGO FBLO S0, DRSO
SOD Dcrgg X7

I. P

2. Q

3. R

4. 8§

8 odairdo ‘(omodr:)l 05:45

Arded. ddoiroedd DADY S
wotdS’ Gocsedod. S8y LADoeos’
Arosesd RA0000 Jod?

06:45
05:15
06:15
07:15

8 FoddE S “Kolkata is cultural
hub of India” % “o24638” i,
“Mumbai is financial hub of India” 2
“r3472p” Ardd o8 oo “India is
hub of democracy” D wer MMS.

SN -

I. w2439
2. 24317
3. B3249
4. 32B47




37. Which letter is midwa?" between 13" letter 37.

from the left and the 4" letter from the right
in the sequence given below?

USBEYFHKOPRAWCGIMQDIVLNTXZ

E o 2 &
ZROoC

38. Which of the following figure(s) can not be 38.
drawn without ecither lifting the pen or re-

tracing any line?

/\
A_X

1. Only A
Both A and B
Only C
Both C and D

& woN

14
13-22-MAT-ENG-TEL

206 008" D Ao 13 ewddorridr

A 8300 45 LGP G0k ©Ldo DA?
USBEYFHKOPRAWCGIMQDIVLNTXZ

Bwn -
Z WO O

Sord)y  Pd dPDodr D AdRe
BgDorrdr AL Ago JodTOS
D87 '

. A drgd
2. A, B Sodr &

3. Cargd
4. C&doin D &ree

r'

-3

39. Find the missing values in place of the 39. 308 dorm Dges’ Qg8 ‘3"‘.10

question marks in the given pattern,

wy
—
W

A
4 18

'a)cs.:w_ GOGEIVDD a»'erswb:)?
? 34
8 21
2 H
I
L3
N
2 40
M
393
z
T

40. What will be the missing number in the 40. 306 562 $2008" SDODD Voy DB?

given series?
1332, 732, 348,

1. 32

2. 132
3. 148
4. 216

41. Find the missing ferm “?? in the given figure. 41.

,36,12

1332, 732, 348, ,36,12

1. 32

2. 132
3. 148
4. 216

Q%o&@&‘?rmﬁ B0
DO (Qocsols.

Nig
P2
Ou
Q|6

tall ot N
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.42,

43.

BN~

Calb ol 2
>}

If,

a>b,

a>q,

and b # 0,

then which of the following statements is
always true?

axh>()

axh<(

a % b is undefined

axp>0

B

In certain coded language

‘way to win' is written as AAaa asag
AAAa,

‘Go to Walk’ is ‘written as Aaaa éaaa
AAAA,

‘Get up early’ is written as AaAa AaaA
aaAA, '

Then, how can ‘Always go to morning
walk early’ be written in that coded
language?

aaAA Aaaa aaaa aaaA AAaa aaAA
aaAA Aaaa 2aaa aaaA AAAA aaAA
aaAA AaAa aaaa a0aA aaAA Aaaa
aaaA AaAa aaaa aaAA AAAA aaAA

- Il + means x; + means = — means +; and 44,

Xmeans+,lhen2+12><4~6~f-6isequal
to '

e i

16

13-22-MAT-ENG-TEL

<

42, a>b,

a> 0,

b # 0, evawdd,
Soc B Do’ D6 MBS Desgo?

axp>()
axph<(

1.
2,
3. axbh Qoo
4 axp>0
8 0086 e
‘way to win’ o309 AAaa asaa AAAa
© Trabcio 26008, '
‘Go to Walk® ©3crdd Agaa aaaa AAAA
0 T oo 86AS, '
‘Get up early’ o320 AaAa AagA
AAA @ Trolio 206008,

WY “Always go to morning walk

early’ oJordD @ 0odd wras® Jer
U’Q’bbd)‘)?

- 1. aaAA Aana anaa aaaA AAaa aaAA

2. aaAA Aaaa aaaa aaaA AAAA aaAA
3. aaAA AaAa aaaa aaaA aaAA Aaaa
4, anaA AaAa aaag aaAAAAAA aaAA

+vo93)<;+uoe3-;—uo6+;wo»8
X@oéj+,lhen2+‘l2><4-6+66«3é
DD '

1. 0
2,6
312
4. 49

R A e RN AN S i

46,

47

13-22-MAT-ENG-TEL

the expression on the left hand side will be
interchanged to form a correct equation?

5+4x8+12-3=3

1. (3,5)
2. (4,12)
3. (3,4)
4. (8,5

Ifa, b, c, d, and e are positive numbers; and 46,

itis given that,
atrb=c¢c+ dc
b+d=2a,

‘d+e> a+'band

ctd>a+e

3 lhén,: which of the following statement is
LE t!-uc‘_) -

d>a>b>e>¢
d>b>e¢>g>¢
azbh>c>d>e
a>d>b>e>¢

Kashvi facing towards rising sun turned to

PR

her left and wali(s for 60m. She then turned
to west and walked for 15m. Then she
turned towards left at an angle of 45° and
reached 95m  from: her original position.

How much distance did she travel?

. 95m

2. 115m
3. 155m
4. 175m

17

45. In the given equation, which two. numbers in 45,

47,

BND  DWEoRS”  0ps D0y

Sor®  Sdow® D &y .

stmmacﬁr&&
S+4x8+12-3=3

(3,5)
4, 12)
G4
. (8.5)

ol e

a, b, ¢, d e en éa-éés QoSS

BoBTD DR000Y
atb=c+d,
b+d=2a,

d+e> a+bddotn -
ctrd>a+e

$00 Sgrjes’ 0BHBA?

l. d>a>b>e>¢
2. d>b>e>a>¢
3. a>b>e>d>e
4. a>d>p>e>¢

Gdowed Araxdd dcvdore a3) 53
8% JaPYD BOH 60 ey Grdo
DDR0O. WY B DEDPD 36A
15 Dot 3006 &5 o8 Asnpipes
45° v Enos® G00 o Bwpdwes
S0 95865" Dot Scosrotnod. e
DO drdo Joes?

95m

115m
155m
175m

LR -
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48. A cube is colourcd on all the six faces with 48. 28 rdS o B Swre P DHDD . 50. Givenx is rcal and that 50. x D6 PR Ropgs°re,

six different colours - black, brown, green, Gorben Saegran. Bensy, Hewsdor, i (A) =49, (B) x* =343, Ay =49, (B) ¥’ =343 wond x = 7 &
red, yellow and blue. 3 Ao oo e ) ‘ examine the given alternatives in respect of P
uw‘b' DD, BRAYSy, Do. ! arriving at the Conclusion: x = 7 and find g 0 AR
| which is valid R0 D6?
® Red face is opposite to the black face. OB DVDBLPAS T Sod. I. Only A is sufficient fo answer the L oo DErErord SHvo A S
o Green face is beuyccn red and black ° VBB DY dorw qmtidn , ww
faces, : :»aga?o. I Only B is sufficient to answer the I ¥y vareards Sdvo B Srgd
Blue face is adjacent to yellow face. ¢ U deo, DRVOSy S8 DS question 208008,
¢ Brown face is adjacent to blue face. Godd. B } Il Either A or B alone is sufficient to I gy D3 500 A D B
*  Red face is in the bottom. ¢ Heosudorn, D) 8erd3 P God. 3 . answer the question '
. . ' : . D PO Bood.
Which of .the following are adjacent to * IS0, Sob Bwod’ Gob. - IV. Both A and B together are sufficient to
) . IV.A, B Botr 08)9 20mrd0dyod0
green? OBy SDS DD 6) D DY 3 answer the question .
. - A J‘m m- .
1. Black, yellow, brown, red 1. Heody, DROYOSy, fodudoty, : 2' n 2.1
2. Blue, black, red, yellow Ry : 3.1 3. 1
3. Red, black, b yu : 4 N s '
3. Red, black, blue, yello . e ol o ; - . :
yellow 2. Do, dewty, 7Y, DRDDEN : 51. Find the values of “x’ and ¢y’ from the figure 51. 808 D) wDBD X7 e Jeddod
4. Yellow, blue, black, red . given below '
3. AR, 320, Do, DRI | 2008,
4. DRy, Do, SV,
. . . » 20 42
49. A watch gains 10 scconds in 3 minutes. It 49, w8 38 sdairde 3 ke ;55:,@5‘ 10 3
was set right at 9 AM. In the evening of - Dot D83 BurbeSv0d, ©b Gdabo 9 i 5 7 6
the same day, when the watch indicates half obreret N oS0edod wd B ’
past 6 “o clock, the true time is - * 6 okl x , ‘ w
1. 5:30:00 P.M. ‘ 1. 5:30:00 o080 - ”
2. S4810PM. 2. 5:48:10 Fasosso i -
oy - ‘ 1. 65,150 1. 65,150
3. S:5820BM. 3. 5:58:20 dabogo 2 46 125 S 2. 46,125
4. 6:08:20 P.M. ‘ 3. 56,156 3. 56,156
' 4. 6:08:20 Fopodo 4. 56,165 4. 36,165
18 ‘ 19
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52.

In 2 certain code. “COUNTRY? is written as 52. w8 FoddE i ‘COUNTRY’ D

‘ZSUOVPIDY, How is “TEACHER® written
in the same code? -

SUTIFED
REHCAET
QDGBDS
SFIDBFU

Bl ol s e

What number should replace the
mark? :

CZSUOVPD? e U‘§ ‘TEACHER’ O @&
FoBDE 270 der Teasrd?

1. SUTIFED
2. REHCAET
3. QDGBDS
4. SFIDBFU

question 53. &o8 Dgoss’ LF)g8 DM DS wcoenrr

GoCIVND Rowy D&?

PN =
-
w

20
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4. 10

A O e A .

54.

Directions: (Questions 54- 58)
A, B, C, D, E, F and G are seven teachers.

Each one teaches only one and different
language from among Konkani, Hindi,
Malayalam, English, Manipuri, Tamil and
Kannada on different days of a week.
C teaches Malayalam on Friday. B teaches
Konkani on the next day of the day on which
the concerned teacher teaches English. F
teaches on Thursday but neither lea@hes
Hindi nor English. D teaches Tamil on the
which day
F teaches. A teaches Kannada on Tuesday.

previous day on

G teaches on the next day of the day on

which- the concerned teacher

Malayalam. E does not teach English.

teaches

Which subject does E teach?
1. Tamil

2. Hindi
3. Manipuri
4

Malayalam

55. On which day B teaches?

. Monday
Friday
Wednesday
Sunday

ol o

21

13-22-MAT-ENG-TEL

RrSden (54-58 09 ew)

A, B, C. D, E, F 6000 G Qe
a&w,soi»w DOID e’ wE) @
SOPD ~ Fosdl, Irod, Boworvo,
QOAD, DY, Svo, £9) cario
TS W Fwved® 'Y, sogardo
C Sowatrvo G, & 2woede B
Sosed S'@F®. ¥ WS B Sosd
0o w8 s o giH doas
SIETHONOE B S OIcw. Mo
FooSob, @ity som RS0y
S'OFco. & Botofer F 00 Sws D
Sy BT, Dodvarde A
SHER)  SOYe>.  Modvade A
ST S0P, v Dwds S
S'GoSr  TRUDH 3obD SICT{OD

 Bowairvo SO, E w0l B0,

- ED ddairdy '&95) &5°0Fe0?

l. 8o
2. ob

3. 2orkpd
4. voabrvo

+ B9 8wd S'odcs?

1. Faoarso
2. Bgardo
3. wdarde
4. esdarco



56.

57.

- 58.

59.

Which language does F teach?

1. Manipuri
2. Kannada
3, Tamil

4. English

Which language does G teach?

{. Hindi
2. English

3. Kannada
4. Konkani

On which day D teaches?

1. Saturday

2. Tucsday

3. Wednesday

4. Thursday

One morning at 8 AM. Navneet and
Ravneet were standing on a lawn with their
back towards each other at the distance of
100 m. Navneet’s shadow fell exactly
towards his left hand side. After 15 minutes,
Ravneet turns 135° anticlockwise. Which

direction Ravneet is facing now?

1. North-East
North-West
East
South-East

B ¥ N

22
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f

56.

57.

58.

F 9 i 5°0red?

Bow
&

2

3. sa
4. Soged

D D B o5 dec?

1. #Jdardo
2. Hofi¥rdo
3. engardo
4. Dardo

s a.sseaumz;dwoéaabé,dabé

w8 DA waend’ 250 Wod w8 100
b.)é.)g Gorfo.  AEADWo,  DEAVDOIT
Decirry &0, BBV D VO B A
BOpR) Dok, 15 IO SUD 6HIE
135° o wgas.raé Bco. m,ba;
6508 D B AT &Y ed? -

L &wrjo

2, aroindie
3. drddy

4, Uﬁloi)o

RO SR A AN

60. Find the missing number
23,7, ,2112
1. 36
2. 45
3. 46
4, 49
61, In a code BH = 16, DO = 60 and TA = 20,

then the code for BAT =72

20
30
40

i LedgR e

sticks and provides an equation that is
incorrect. How many minimum numbers of
sticks must be removed from the left hand
side to make it a correct equation?

&N -
£ -

13-22-MAT-ENG-TEL
5107 TRE/S—MAT-Eng-TEL ~7

60.

61.

62. The figure given below is prepared by some 62,

0D RowgRo ool
23,7, 2112

36
45
46
49

Fwo -

28 Jodad e’ BH = 16, DO = 60
20800 TA = 20, 000D ¢ BAT = ?

1. 20
2. 30
3. 40
4. 60

& Do VPIVH O GOArHDd 29
Sy PVEoTD)  WrdRed. S
2OBDOED HEODLY H00d) ADIDHBVD
SRRRY Y H008),e0 Y ?
— 11
B

PN =
B -



.63,

If 63578 isto 1415,
56732 isto 185,

and 34124 is to 86,

then 72648 isto ?

1215
1415
1512
1514

calt ol 2 8

Two friends Mr. A and Mr. B stand 64.

according to figure 1, The two friends then
interchange their positions as given in
figure 2. '

The height of the wall from the ground
1s .

1. 115em
120 em
127.5cm
130 cm

EalliE o

24

13-22-MAT-ENG-TEL

63578 : 1415,
56732 :185,

SA08ain 34124 : 86,
©ond 72648 :?

1215
1415
1512
1514

bt ol L

A, B ©d agd Dgoew Ago 1 &
QArdodHE D) . &8 2EH DGR

T6 6 S Dgo 2 & ArddBE

QNS0T

Figure-2

2P &000) e e .

1115 20.50.
2. 120 0.0
3. 127.5 20.%.
4. 130 Do.2o.

¥
3
3

65. In a certain coding scheme, consonants and 65. z¢ &ogag‘ H5gosS dreen, eKNeD

66.

13-22-MAT-ENG-TEL

vowels are coded differently as illustrated
below:

C is coded as 6.

Z is coded as 52.

Eis coded as 9.

O is coded as 29.

Then find the sum of numerals in the coded
version of FAITH.

gtaaptigr
w
8

In a class 20% of students are below 14 66.

years of age. Out of the remaining students
10% are of the age 14-15 years and ratio of
students who are’ between 15-16 years of
age to student above 16 years of age is 3:2.
If the number of students who are above 16
years is 72, what is the total number of

students in the class?

200
250
300

400

Bl b

25

S0 & Desorr ATrDoesE=ow:

C 36 6 v 2orocdeciod.

7 938 52 P ArQocsercod.

E 38 9 o0 drdoddiod.

0 6956 29 v Brdocsedod.

wond FAITH 3 3063 Ronjo 20g°J)

A smé‘boc‘..

BN -
-
-

08 S6r0S" 20% Derjgoen 14 DodSyoo
S00R0y S0l AR, B Derygorers’
10% a0y 1415 Rodowe 2666
G0k, 15-16 DodSore SODRY 206’
& 08 16 oddyoro So8 S
SoHroyioTd G 3:2. 16 VoSSR

D wg dovjhe Dowy 72 wond o
SO0’ Augo Dorjder Doy Jod?

200
250
300
400

PN -



67. Study the figure given below representing a 67. 308 DBo&® w8 Doy JoddSorr &

particular number in a coded manner, DSor Ao od.

©
%

Lo

GO
Ardotsedos.

AN

D RErETR) BRR00D S0l DogVD
BOD JodoE room&'&) 308 508,

PO X

for example, the number 6825 coded by 6825 &

the following symols-

palatolod

Bascd on the above information find the
number coded for the following symbols.

1. 63205 1. 63205
~ 2. 11309 2. 11309
3. 11523 - _ 3. 11523
4. 65230 i 4. 65230

. 26
13-22-MAT-ENG-TEL

AR NN T

PRI

68. Five friends decided to play a game of 68.

|

badminton. Each of the five plays against
every other friend, The winner gets two

 points for each game he or she wins and the

69.

foser gets zero. Then which of the following
cannot represent the scores of five friends?

> )

, 4
,4‘
)2?
4

b

>

DN
o - S
S e S R

»
(4
*
i3

el
[CN SRS

s Uy

Study the given figure and answer the 69.

following question

Let x denote sum of numbers present in at
least 2 circles and y denote sum of numbers
preseat in exactly 3 circles.” Then
X=-y= ’

1
25
36
61

B

13-22-MAY-ENG-TEL
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oo

2900EMHE WEVLD BB 28 E6F DO RS
DI ooBDIN®. DO veSHr DO
DRSH Botts Fowotw Tocrr &y
08 Brdge VDB, VoS JooTdS'

ary.‘.éoa)b R38R0 eIl

AN Pabta N3} o), R0
ArondE DE?

1. 4,4.4,4,4

2. 6,4,4,4,2

3. 8,8220

4. 6,6,4,2,2

306 ady® D) ©09Vod Job DI LD
80 2 Bygros PHR) vowjw gy X
Qardostr ¥ @G dydor 3 dygrod’

e Qo 208y LSO




a

S

70. Choose the correct mirror image of the 7. 40 ATIE BodD GOy ©ADowo

. Raju invited friend George for a dinner at  72. 85 6D 8
following figure if the mirror is placed as 72. Raju oo )FSED &8 2063

shown. GOTR) @ 00y o Gotwell his housc. When George asked for the g, o A DomD. T BodEhHeD
SR Hod. ’ direction of Raju’s house, Raju gave him 80D WQ odr T & O &
the following mstructlon;1 . ) 205 RSB
3 cd 140 metres south from vour house :
Fapees | 2 208 wod 140 Dexh GArrdS 29,
i then walk 200 metres to east. Then tum to
north and walk 100 metres. After that, oy Ardnd 200 ey
irror- T, L k160 meres o west S0 2. sy agodt a
L. 2. _, What is the shortest distance between the 1000, dcar®. es So°(H DENG PDWH
; two houses and the direction to Raju’s 160 Dot Dcard.
house from George’s house? Bodgehr Jodsiw B0 Grdo Dod? 6
' F083 od) T e D H3S” Gotnod?
3. 4.
1. 40V2 metres and north-west ' 1. 4042 Doy, TrasuSgo
_l 2. 40v2 metres and south-east 2. 40v2 Dowx, ey avo
71. Observe the figures given below: 71 800 Do $09Bossod. ' A 3 3. 80 metres and south-cast 3. 80 Dowxgp, esiyao
' 4. 80 metres and north-west 4. 80 oo, a0

ARANAT O

~
‘~

- Ina code language if ‘APPEAL’ is coded 73. 28 odAgernd’ *APPEAL Sy 256572
as ‘256572 and ‘PLAY’ is coded as

e

;\ m 7259 then in the same language S PLAY’ & ‘1259 2rdh,  ed
‘PEARL’ will be coded as {each number %
code stands for unique alphabet) . Q" PEARL'S0 08380 D o
4 ; SrDodSy. (6 Ddore VO Doy w8
Based on the above ﬁgurcs identify the D ATod02800 VOB ;595“,.,3 g . B
correct group of categorization? 2 ; D88 0Ly D)
. Aoty Dgredo?
L 13.6; 249; 578 1. 1,3,6; 24.9; 578 1. 25768 1. 25768
2. 123; 4,58; 6,79 2. 123; 458; 679 2. 25387 2. 25387
3. 1,68 359 247 3. 168 3,59 247 _‘ 3. 67522 3. 67522
4. 136 257 489 4. 136, 257, 489 425679 4. 25679
28 29

13-22-MAT-ENG-TEL , . - B-2-MAT_ENG-TEL



Directions: (Questions 74- 76)

Five students Ujith, Mahi, Rizan, Sahir

and Amelia appeared for an examination
in English and Mathematics.

i) Sahir scored more marks than
Amelia in Mathematics but scored less in
English than Ujith and Mahi.

i) In Mathematics Rizan scored more
marks than Amelia but less than what
Mahi has scored.

ili) Amelia scored more than Rizan in
English and Rizan scored more than
Mahi in English. :

iv) Ujith scored more than Mahi in
Mathematics but less than Rizan in
English,

v) Sahir scored less ‘than Mahi in
Mathematics.

74. The least scorer in Mathematics and top 74.

scorer in English are respectively

1. Sahir and Ujith
Amelia and Amelia
Ujith and Sahir
Ujith and Ujith

C o I

30

13-22-MAT-ENG-TEL

Reedden: (gvlw 74-76)

€86, 2lr, 02D, Fird oo wdery

29 OV leggow R0k, (i

DOEOD BFRBALTD.

i) ddsod edery o8 I6 D
Sraen Toord. 0 RS 62,
Qe gotd BB BrE)D Towrd.

ii) rdeod® ord  wlvery gof QD
B e, H02rgots SED  Dredoyen
Docresd. v

iii) wofxe’® 8erS ol wdoery B
Are)en, & gofd Bard D
20,0 Forrdd. .

iv) 63gos”  e2d  Dirgeth duyd

Jrdpen Forrcd. ol 6ard

Sot) BE) D Are) 0 Torrdd.
V) fd3s08” 6 Wiy gol SLS
Aora e oo,

3o’ wd oD ar&bw.- Fofe”
VSIS D)0 TodBE g0

[ 26 080 26
e HBOI DU
628 D803 A
&2 200k a2

W

e

75. Which of the following cannot be 75._
' determined? ' ,
1. Amelia scorcd more than Mahi in
_ English. | |

2. Mahi scored more than Amelia in
Mathematics.

3 _Sahir scored less than Mahi both in
A Mathematics and English.

4. Ujith scored less than Mahi in
; English. '

¥

76. Which of the following is necessarily 76.

VARG L A

correct?

1. Rizan scored more than Sahir in
Mathematics.

2. Ujith scored more than Sahir both in

Mathematics and English.

3. Sahir scored more than Ujith in

Mathematics.

Pt SO

4. Rizan scored more than Ujith both in
English and Mathematics.

The third day before 1 January 2019 was 77,
Saturday. Which day will the fourth day of -
March 2020 be? ’

1. Friday

2. Saturday
3. Wednesday
4. Thursday

13-22-MAT-ENG-TEL
Si07 TREN9—MAT-Eng-TEL -9

808 aredes* DgoosdIS D&?

L mofitne” edoery 2ol» Soff deyd
Sy e ToBod.

2. (3008’ Ml edoerigold NEUE)
60 00 Torred.

3 oeddo, @ofily Bodotd SR Jrb
oS0t kD S en Towrd.

4. @ofnd’ ead Wirsed oD
a0 Torred,

B0600S" pABorT DOHG DB?

1. 63008S" 8x5 FrE o D
Srdoen Jotwesd.
6380 @il  BodoBS'Hr aad
F25 S0 D S D Forrcd.
3. dddos” Jeeb a2d S0l D
Sra) e Towre.
4. R0y eddo BoldodS B 620D
G2 Sotd e D Do) en Foreed.
S e Totwcss.

~

2050 1, 20198 Jroge awres G
#D7Go waed. wod, Jry 20208°
435 e Q T weood?

1. %oga‘dp

2TGo

LGTSo

Aooarto

2w
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78. Observe the given figure below 78, 20d DDy 50980c50.
A B C
R Yorrurmennnentennne
G
K
Wiorermseasareeaes T
D E F

Based on the figure how many maximum & ag-::)l w000 A, B, C, D, E, F
numbers of triangles can be formed with - 000 G w5 Dochidnw  wsorr
the seven points A, B, C, D, E, F and G? Sosrocy Jzoere © (B 0w Joe?
1. 21 1. 21
2. 24 2. 24
3. 33 3. 33
4. 36 4. 36

79. Find the correct mirror image for the 79. 808 pw\gs DS BOEDD P
following problem figure from the ) 28 66)
alternatives. 23000 06 'fgu"sarlo‘srué‘ 26? _

S ‘ ’
A B ¢ D 3

. A 1. A
2. B 2. B
3 C 3 C
4. D 4. D

13-22-MAT-ENG-TEL

80. A circular disc is cut into two parts. One of  80. ..¢ Hyoree6 Dedo &%), Boch arrrene

>
—

P2 =
o

the parts is given as the question figure.
Which is the other part? Select from the
options.

given on the left side. When the upper
figure is exactly placed on the lower
figure, find from the option figures how
the resultant looks like.

N S
onw>

33

13-22-MAT-ENG-TEL

8300300, GRS’ w8 wrie YT TS
Qyorr A WGd. Bodd 2rrio 28?

o) oy aire) A0 JodE Sodod.

2 PYY

PN -
‘Towe

. Two figures on transparent sheets are 8I. 5“"5";5“" ady W 63) Bocd

DEPOR APV BIE0 26D, P
HErD) DO S0b Do DS GoDBDYE
eroth HDSo SeHES DAySoTRNT
DR DETR 200 (oS0l

999

A
B
C
D

BN =



82. Find the missing part of the given figure

from the alternatives which completes the
pattern. :

S
o Ow»>

82.

83. Find the comect water image for the - 83.

following problem figure choosing from
the alternatives.

A
B
C
D

Eal of 28 o

Directions: (Questions 94-88)

In the following question, there are
statements  followed by . conclusions.
Choose the conclusion(s) which must

logically follow from the given statements.

.

34

13-22-MAT-ENG-TEL

2

¥

300 D00’ SD\Vod ey WY
Saerdd HErgEre) aire o MHPosod.

B C "D

I A

2. B
3. C &
4. D v o
306  pIBE  dwo DS

LDV D Do DByEBE

N HE°) ) O 0 WBocSod.

s
caE>

KSR : () e 84-88)
8ot LB\ ) Bgrgen, T BANBD }
5) Swhoden Bdco 20hed. BIS
S 0 S sar D atedw)
20 ercir Jods Baed.

Py

84. Statements:

A. Some grandmothers are mothers,

B. Some mothers are daughters.

C. Al the daughters are married women.

Conclusions:

I Some married women are mothers.
1I. Some daughters are grandmothers.
111, No daughter is grandmother.

IV. Some mothers are grandmothers,

1. Onlyland Il

2. Only ITand I
3. Onlyand [V
4. Only I and IV

85, Statements:
A. Some students are smart-working.
B. All Intellligent are smart-working.

C. Allthe lea;:hers are students.

Conclusions:

I.  Some students are Intelligent.
iL

118

No teacher is smart-working.

Some intelligent are students.

1. Either [ or Il

Only Iand 11

None of 1, Il and 111
Only I and 111

ol L

13-22-MAT-ENG-TEL
SI07 TREMS—MAT-Eng-TEL 10
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85.

Sgaegen:

A, S0 oy Srew.
B. Socs denen Srdogh.

C. ®otd Srévge DarirdRen.

Swhodpen:

I Sodcd DarirdHen deoew.
Il §odd ravgd edn o en.
L D €raoar o), 5°6.
IV. 0cscd Seven vy sopen.

1 1060k IT S0

2. 11605 I argdo
3. 1 20005 IV Srgd
4. 1206050 IV args

agavsw:

A, Sotshd

DASDTD.

(L aleY)

DBV,

C. ©o68 arergoiner Derjgoen.

SAnholpen:

L Soat dergghen B0,

L 9 adoroincs o HASDIW
S8

[ o5 BIDI® Jerggoen.

[ o1l

I 08050 [T Srgidy
L1 1 06 D6 soco.
[ 208050 111 Srado

Dorgoen  caxcere

B BODITYS AL

i

2
3.
4



86. Statements: 86.

87

A. Some students are orators.
B. All orators are goalkeepers.
C. Some goalkeepers are honest.

Conclusions:

1.Some students are honest.

{I. Some goalkeepers are students.

Only conclusion [
Only conclusion 11
Both conclusion I and II

Pl i A

Neither conclusion I nor II

Statements: 87.

A.- Some men are women.
B. All women are teachers.

C.  Some teachers are doctors.

Conclusion:

I Some doctors are women.
II. Some teachers are women.
I1l. Some teachers are men.

1V. Some doctors are men.

1. Only landII

Only I and IV -
Only Il and 1T
Only Ul and IV

Pl o

36

13-22-MAT-ENG-TEL

CE e N

Dfargen
A, Sotsth dajgoen Hgew.

B. eoct dger K&,

C. Socsth BSEDEH Dasranddooen.

whorpen:
L ocstd Derjdonn Derandiden.
1. Soac> HSsng Darygen.

1. 13083 Swhos).
11 g Bbo)
T 50000 11 B0t 200A0RHen
I Sar 11 Botir Sf0R) S

SFoegen

A. ot Qipen ’2:».

B. eocsh Hew adroriaien.
C. Eotth adrorioiuen DEgen.
S0HoRy:

L oo Dciogen Jew.
1. S0t adaryasoen ’gw.

1. ot adrgryosnven .

V. ocscd deiogen Hdoioen.

1. 1v60mll Srgd

I S0608 1V Srgdo
11 20605 111 B¢
111 2206030 IV 20

= owoN

oS

DN AR

£

F
B
:

88. Statements:

A~. Some candidates are students.
B. All children are citizens,
C. All citizens are candidates.

Conclusions:

1. Some citizens are students,
1l. Some candidates are children.
111. All children are candidates,
IV. No child is student.

Only Land I

. Only I and HI

. Only Il and IV
Only I, IT and 111

R

89. Study the figure given below:

88. Sgoegen:

A Eodsd ezgoen derggoen.
B. ®ocsd dyer Jrden.

C. @06 ddar ZjERD.
Swhotpen:

I Socd dtoen Derydoen.
1. Eocco wajgoen oo,
L 206560 Dy ezidoen.
IV. O bymdr dorgs.

L L1 srgd

2. 1, 1 Srgdo
3.0 ML IV Srgd
4, LI I g

89, 305 wDy® DEPD) 2ORBocsod.

-

]

| - 7= /
= @

O

A B D - E

Find which figure is to be removed,

starting from A, so that all fit into a
pattern,

P ol
mogQw
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©) DErar VG Vo w8 drrs’
Gotad3 A od G D Derdy
Sofowe® (hocdod.

W
moOw



90. What is the minimum number of un-

shaded boxes to be crossed for covering

90.

1
‘A’ 200D ‘B'S (308 58D) m0d

92, A river

flows along the East-West 92. 26 356 00D DENED DHIPRA.

dgrwod DI Voorr,  dwareor direction. On a particular day in the ws DB B o aoawd Sy, 63
the shortest path fi ‘AT to ‘B’ 4 . 4 Lane YA®
1els o ;s ;:: 1t m1 ' :1; t }fbol: Dotz awzpmmoaﬁo' DYAdH 4 morning Kisku was scén at a piacc A a3068S" ady A wd  pBEest
excilusive) without retracin, an . g : -
) i ¢ lhe-pe wd ogmo& dyrwosd fdow £ Doy jocated on the northern side of the river EDorrcy. w8 Jobogo BB O
without diagonal movements? :

Doch?

38

and on the same evening he was seen at a
place ‘B’ Jocated on the southern side of
the river.

Following are the comments made by four

friends ~ Paulomi, Mimee, Sabeena and

Simo PO &d) B ed 0B%05°
&N,

S W, Do, VDT, FOS 0D b

: e Sodd TPV WF°.
E BPGORD &
Grayson. .
) . o L 820 26D S0 2830 g o8
. Paulomi said, Kisku must have crossc
fhPaulomt &oé Ho°® 9 S W wod.
the river only once. IL S, exrow 80 TOIEH T
I, Sabeena said, Kisku might have E0GHEy 0D DD ob.
. 8 1. 8 . x
2.-9 2. 9 2 crossed the river four times. 4 11, w6es DD DEIW BEeED 8D
310 310 : 3 [l Mimee said, he might have crossed it oot
4.1 4 1 five times. N
A < ; i . : d IV. 28 Ao 03 &IV &8 Gocididy
91. Observe the figures given below: 91, o5 BN DEFOR 1VoiSod. 3 V. Grayson. said, e might have cross 0D B6S eomm
£ it any number of times. e Rl
o a Choose the cormrect alternative from the So& Qo oY Bood AP
d d ﬂ é ! / following: RAFEPRr) Jobs oot
q O & o £
. l q .y L. Only Iis correct 1 1 s 2898
3. Torlllis correct 3. 100 1110346
4. land 1l are ¢
The odd § h i ST e cerest 4. 158050 I Bottr DJDD
e odd one out from the given figure o g :
he odd given fig AN Do’ Dy D6 . :
1. A 1. A i
2. B 2. B
3. C 3. ¢ :
4. D 4. D
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Directions: (Questions 93-94)

In a town of 1000 people, 570 read Hindi
newspaper, 424 read English newspaper
and 254 read Punjabi newspaper. 40 read
only Hindi and Punjabi newspaper; 58
read only Hindi and English newspaper;
and 70 read only Punjabi and English

newspaper. 100 read no newspaper.

How . many people read only 6ne 93.
newspaper?

93

570
642
914
968

balh o o o

94. How many people read all the three 94,

newspapers?

e
-
=)

95.

Complete the given letter analogy 95,

LTFQIW : YGSIVD : : DOIYKV : ?

1. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLXJ

40
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Aordden: (g!lw 93-94)

1000 508 Lweody ws Do 570
208 Irod TPHISR ST, 424
2006 @AY TTOIED, 254 Howd |
TPOHSD SEDED. 40 2008 Irod

200 Dord TYHYSD  SrED

BERDOW®. 58 2ob od Hbatno
060 TTDAED A SERHTGR.

70 206 Dowrd) A  Rofid

TTOGSH  dred  Sdpeedm. 100

2008 D TTEDER SBHE.

0070

1. 40
2. S8
3,70
90

DD LS JeyTE) Qrdocsodt.
LTFQIW : YGSIVD : : DOIYKYV : ?
1. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLXJ

FTOIEOD

=
=
a3
2%
n
%
]
3
3

opted by students "at senior-secondary
level.

%

Commerce

If sum of the angles for the students who
opted different streams is 144° then the
streams are ?

1. Arts, Applied Sciences.

2. Basic Sciences, Computer Science.

3. Basic  Sciences, Commerce and
Management.

4. Applied Science, Computer Science,
Commerce and Management.

97. Four relations have been given as
- alternatives (p), (q), (1), (s), out of which
only one becomes acceptable if the signs,

+ and + and the numbers, 4 and 5 are
mutually interchanged. Identify that
relation, )

(p) 24+8x4=20+5
(qQ) 20+4x16+5=175
(1) 3x24+5=16+4
(s) 20+5-6=3x%x30+4

L (p)
2. (9
3.
4, (s)

41
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96. The given pie-diagram shows the strcams 96.

97.

D006 Eocs .g-o.»é‘ derggoen
D) DV GOV oS P Do S0
'aabsudo&.

and Management
(gl atotn 58St )

EPN Arts
Science (s86535)
( goSatared B3S)
Basic
Sciences Applied
(B2 3538) Sciences
- (05e& 5535)

G DeFrodd DY) o
D063 dwgo o 144° w wond e

Derrren IDD?

I efy obE DIW.

2. 806 DIV, Solrgb -5y

3. 858 DAY, by woakn DS
0085

4. D& DO, 50"«2)',30-\5-5253. se06y
530050 0DE00ES.

+ S00030 +, Dogew; 4 B 5 Vowjen

@odhory oy Bodociody SBA LD LOERE

8  arded  reurb Dorgaom ab

K)O&JON (.p)v (CD, (l'), (3) w '335&):&:'0»

DOTDS Q08067 Araods

Doy 03Dy ) Sod.

(p) 24+8%x4=20+5

(@ 20+4x16+5=75

(r) 3x24+5=16+4

(s) 20=5-6=3x30+4

Lo(p) -
2. (g
3. (v
4. (s)



98. There are 20 steps to go to the first floor of 98,

99.

a building from the ground floor.

A child starts climbing up from the first
step of the ground level. Mother starts
coming down from the fourth step from
the floor level of the first floor.

If both have started at the same time with
same speed, at which step would they meet
counting from the first step from the floor
level of the first floor?

1. 9

2. 10
3. 11
4. 12

The following question .consists of four 99,

problem figures marked as A, B, C and D,
Select a figure in place of *?* for E which
will continue the series established by the

%S POV 306 woddk oD AES
LBV Berdocy 20 e JsYd.
68 D)0 Sob eodoMoD e
LOSRD I 0 FGodiod. W 69
QOGS WodRD Deertd Frowes” el
R ol Brio DNESEOBIE. AGET
%8 Detod 28 pvabos® Awcsen DED

DGO wodEn Jordd A WD

Wod  OHH  Togar O 2R
SRLDETD?

1. 9

2. 10
3. 11
4. 12

S0 28)&° Scware A, B, C, D ©d
D DDIYBE  DEredTION. &
re A, B, C, D d600ga0d)

four problem figures, A, B, C, D. E3>fosemdd E aas™d Fidod®
GOCDODD DErFD) Jobs Sowed.
+ = |- I X S + * 2t
- x| | x + I+ =] |- "
A B D E
1.
. | X 2
x + = *
3. w
X | - B
+ x -

42
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1 ich one of th
09, Which one oc ! elation among me, dC_oC tots

¢ following venn diagrams 100, 304 D) Sardgrod’ Y, Desogen

enre: s th
| D D | o
| A B C D
: ; A I A
: . B 2. B
1 3. C 3. C
| 4 D 4 D
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Rough Work / O&v 02
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